D00 1I0doogogg #3 20040 50 60

[1] Ox=a000000 f(x00000 f(a00000000

[2] OO f(x)=|logx (x>0 00000
(1) 00 f(xO0DOoOOoO0OoO
(2 fxDODoOoooooooooo
ggodoobbobobbbbooooooouoooooboobn
(3 DOODUOoOoDUOoODOO ffxyooooo
(4) f(x\O0DO000O000

[3] 000000000000

(1) f(x)=c (cOOD) (2) f(x)=x" (neN) (3)

(4) f(x)=vx (neN) (5) f(x)=x" (aeR)

(6) f(x)=log,x (1) f(x) =€ (8)

(9) f(x)=sinx (10) f(x) =cosx (11)
(12) f(x)=Sin"x (13) f(x)=Cos x (14)
(15 f(x) = sinhx (16) f(x) = costx (17)
(18) f(x) = Sinh x (19) f(x) = Coshx (20)
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f(x) = i (neN)
fx)=a* (a>0)
f(x) = tanx
f(x) = Tan x
f (x) = tanhx
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